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[0093] xu=xv=xq XME fyu, NE Nu, XeEFou (10)

[0094]  ZEFX(10) 5, xuy & W0 S MY 00 B R 00 v () 5 ke i 3 7 BB 40 2R AR i 0o 2 PR LIS
XN A 2 N N )52 R 5 v () e MR A 5 5 BB 1100 R A8 w0 N2 ) S8 1285, o A 2 0 o Q) 00 2 R
B ou (x) S AR A5 BB 1K) AR T N ) B S

[0095] BB IUL |t 5w ST it ATt B
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[0096] WX FHAF 5 PR EL sgnF B 3 s xn Al xo X B G4 b A ME , 318 N sgn (xun) ~sgn (xv)
Alsgn(xq) 5

[0097]  H#isgn(xm)&sgn(xn) =0, sgn(xw)&sgn(xe) =0, Hsgn(xn)&sgn(xq) =1, N FEAMT
S

[0098]  Frsgn(xw)<0, VU 2 125 5 P oM e = xs

(00991 3% sgn(xu) >0 , Ml A% 2 S W oM e = 11—

[0100]  FFsgn(xm)&sgn(xy) =0,sgn(xu)&sgn(xe) =1, Hsgn(xn)&sgn(xq) =0, WA T
NTSZ i 5

[0101]  Frsgn(xn)<0, NI PR 2 & 5N e =xn,

[0102]  FFsgn(xn)>0, VIR PF 125 2 Wl 3mNxe = Lo—xn;

[0103]  Fsgn(xu)&sgn(xn) =1,sgn(xu)&sgn(xq) =0, Hsgn(xn)&sgn(xq) =0, M= L7 T
QT 5

[0104]  FFsgn(xa)<0, MR PR 5 & I Qxe = xo;

[0105]  FFsgn(xa)>0, DR 2R 20 & 9w Qx e = 1s—xq.

[0106] St ] 1« LAV L 7 () i Fi e 8 DA 491, A TOMT 32 6 PR S Mo 40 k&b A A2 AAFH 42 1 i
(% o

[0107] AR 4z B A5 rp A0 BR— AP B8 45 210 PR bR 2505 W0 g M 2 0 s N R 2 00 o Q) 2 R
Hitma(x) v () Ffou(x) AR R =3B fyu=1[40.0], f'xvo= & (R THE) , fu=1[39.81,
H o= & , AT TR AN, TNTSZ 2%, ISR A & I omNEAR » 715 [ to, to+1s/ (2v) TIRF & P ()3
FR PR B 1R K VO N R AT £ v =[40.0]. 7] %, xa0=x"n1 ~ xq1, H.sgn (xm ) &sgn(xy) =
0,sgn(xm)&sgn(xq) =0, H.sgn(xn)&sgn(xe) =1 A H1, ME AL TMTSZHE , H P EMI740 . Okm.
[0108] skt f51 2 : LA B 1 BT 73~ 1) i v, 2 i Mo 9], AL TRENT S i R 9 T i 26kmAk R A2 ARH 1
P

[0109] AR 4z ik B 5 b 20 BR— AP 3R -, 45 210 P5 pR 250 0 g M 2 D0 s N R 2 D o Q) 2 R
Hrtwa ()~ Fru(x) FlFau (x) ARG A B =15 Bt =[24.7 44.9],Fx=1[24.7],f0u=1[24.7],7]
0, xm=xn1=xq1, H.sgn(xu)&sgn(xy) =0,sgn(xu)&sgn(xq) =1, Hsgn(xn)&sgn(xq) =0, 7]
KN, WAL TNT ST , HLER B 1Y 1524 Tk,

[0110] St 513« LA P 1 i 7 () i v i A 491, B0 QT S 0t R 9 T i 20km /4t & AR ARH F
PR

(01111 AR HE vk B rp A0 BR— AP IR =, 45 210 PF pR 2505 W0 M 2 DN S N R 2 ) o Q) B2 R
Bt (x) Iy (x) FlIfou(x) AR HEP IR = B 1 =1[20.0], fva=[20.0],fou=[20.01, 7] &1, xu
=xn1=xq1, H.sgn(xu)&sgn (xn) =1,sgn{xm)&sgn(xq) =0, Hsgn(xy)&sgn(xq)=0. 7] Hl, &k
B A7 T-QTSZ %, HER B J7 520 Okm.

[0112] DA k&5 5 B DA AR R IR () BAR S2 it 75 XA 1 VR4 U I, (H2 AR K IR AR T Bk
S 77 3, AE AR SUEAR IR LT B A& HRYEH L 38 ] BLAEAS B 3 AR B OR B R
& TAE & FhAE L .
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